Factorise Fully....

Below are expressions that have been factorised fully correctly, or not. Find the

correct factorisations, and offer corrections for the incorrect ones.

Expression Factorised..... Corrected (if
need be)

A 4x+24 4(x+6)

B 4x+24 2(x+12)

C 2ab+a2%b ab(2+a)

D 2x2+8x 2(x>+4x)

E a’-6a a(a-6)

F 2x2+8x 2x(x+4)
G 18-3a 3(a-6)

H 4a+8b-16¢c | 2(2a+4b-8c)
| 5ab+10b 5b(a+2)

] f>+efg f2(f+eg)

K 5ab+10b 5(ab+2b)

L 10a+15b 10(a+b)
M a’-6a 6a(a-1)

N 4a-6b 4(a-2b)
0) 4a+8b-16c |4(a+2b-4c)
P 8p-6g+4 4(2p-69+1)
Q 2a+2 2(a+2)

R f2+efg f(f+eg)

S 10a+15b 5(2a+3b)

T 18-3a 3(6-a)

Note down the letters of the correct factorisations..... what word do they spell?




